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printf("C A5 (X¥n");
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c2jalrat(109)% gcc test.c
test.c: In function "'main':
test.c:4: parse error before )’
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# include <stdio.h>
# defineN 5
main()
{
int i, Data, Total=0;
float Average;

for(i=1; i<=N; i++){

scanf("%d", &Data);

Total += Data;
bs
Average = (float)Total/N;
printf("Number of Data = %d¥n", N);
printf("Total = %d¥n",Total);
printf("Average = %5.2f¥n", Average);
if (Average >= 60) {

printf("You win.¥n");
by
else{

printf("You lose.¥n");
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#include <stdio.h>

main()

{
int i, Data, Total=0, n=0, c;
float Average;

while ( (c=scanf("%d", &Data))!=EOF){
Total += Data;
n++;
b
Average = (float)Total/n;
printf("Number of Data = %d¥n", n);
printf("Average = %5.2f¥n", Average);
c= (int)(Average + 0.5);
printf("4sha5nyuu = %d¥n", c);
switch(c){
case 0 ... 59: printf("D.¥n"); break;
case 60 ... 74: printf("C.¥n"); break;
case 75 ... 89: printf("B.¥n"); break;
case 90 ... 100: printf("A.¥n"); break;

}
} ex3.c ELVST7AMILATIRTE

F—IR—FHhSDAIDEDLY I,
ctrl-d ##9,

ZENGEREFIRATLILENES
exX3THDI/RSI YU T ILEZEETE (#define N 5)IZL7AELY
NHBLIRES

BHE DL DI Data, Total,n,cDEZ. Total, cDFIHAEO
EHBDEH Averaged EE

SAIRAATET 4%k L. cHAEOF(771 VD &%) THELE
IREDTotalD{EIZDataD{EZ M A THF-"ETotalDEIZ
HEDONDEICT1EMATH=EnDIEIZ
(n=n+1&,RELC)

TotalZE# & - L TNTE|>TAveragelZ{E A

n(FEAAL ) E TR

Average(F15)%5HT (VNUR LLT 2HT) TRR

AveragelZ0.5Z#MA T, BHEICEBLTWHE)cIZRKA

c(AverageFMiEAALT=3 D) &R

HL.chH

OML59MigHE(E. DERMR

60ML74DIiGEE, CERR

750 L90MiGE (L, BERR

91ML100MIFZEIE. AERTR
BhHy

[

SEE  CMswitch-caseldgecc TOHLRIE T, EFEZEC ... 7
THERELTWS, LML, D cTIEEELLGWTIREEN B S,

WEIL “case 59: printfF” —DDEITZMFT5,




Bc Sl

s ALT—2BDERE

« 5]: 5F

DE %
DRBERIZE

int datal, data2, data3, data4, data5
SELDONARIH A !
>FEHTEELELD

int data[5]

(B Ea (ER))

=data[0], data[1], data[2], data[3],data[4]

DS5DONDEZ

=825 D iRF

FONBIERI-11FET

data[0]

data[1]

data[2]

data[3]

data[4]

SODEHDFEZAE

 RIRL DR EHEIZESD,
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#include <stdio.h>

main()

{
int i, data[10], Total=0, n=0, c;
float Average;

while (scanf("%d", &data[n])!=EOF) n++;
for (i=0; i<n; i++) Total+=data[i];
Average = (float)Total/n;
printf("Number of Data = %d¥n", n);
printf("Average = %5.2f¥n", Average);
c= (int)(Average + 0.5);
printf("4sha5nyuu = %d¥n", c);
switch(c){
case 0 ... 59: printf("D.¥n"); break;
case 60 ... 74: printf("C.¥n"); break;
case 75 ... 89: printf("B.¥n"); break;
case 90 ... 100: printf("A.¥n"); break;

}
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